L55

Conditions of the ‘4z J 528411’ to be accusative:

1.
2.

To be additional
To be preceded by a sentence which contains a verb or a verb-like
noun

That the ‘5’ 1s explicit in togetherness

Example; “aSelS 55 5 oSl | saald” o, oS al w8618 1 pa | gaaald

Notes:

The original principle in 5’ is to be for ‘—akc’, s0 whenever it is
possible to be for ‘—he’ ) it cannot be for ‘“4as J s=éall’,

Sometimes the ‘4=« J 24” is accusative by a concealed ‘ps<2ll J=% and
this is after the interrogative ‘W’ or ‘as’,

Example: <Caol 5 &l S e, Gl 5 0583 Cas
4 J grdall
Definition and Effecter:
It is a noun that signifies the times or place of the happening, by

assuming a ‘2’ before it. It is accusative by the verb that happens in

it.



Divisions and I’rab:

1. ‘S5 (space), such as “(3) b puw 253 58 Lials sal”
2. ‘W) (time), such as “al £l oY) fae CSdy Jeld = £l Hay g

Each one is either ‘(=iss’ (specific time or place) or ‘ag’
(unspecific time or place)

All the ‘<15 can be accusative except for ¢(aisall JSall s kIl
or a derivative from the verb when its effecter is not made of the
same root letters. In this case it gets genitive by ‘¢’ or the like.
Example: &l &£ uai Al 5 (and indeed Allah helped you in
Badr)






